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QUESTION 1

A vSphere administrator needs to quickly move a critical VM from an AMD-cluster to an Intel-cluster. How can the
vSphere administrator move the VM? 

A. vSphere Storage vMotion 

B. vSphere encrypted vMotion 

C. vSphere vMotion 

D. Cold Migration 

Correct Answer: D 

 

QUESTION 2

A vSphere Administrator has multiple virtual machines running on a VMFS datastore. 

Which option prioritizes the disk access for the virtual machines? 

A. Disk Shares 

B. Disk Mode 

C. Disk Type 

D. Hard Disk 

Correct Answer: A 

 

QUESTION 3

What is a benefit of using resource pools? 

A. Increased visibility of user activity 

B. Increased vMotion efficiency for a set of VMs 

C. Increased accuracy for proactive resources for a set of VMs 

D. Increased ease of reserving resources for a set of VMs 

Correct Answer: D 

 

QUESTION 4

Refer to the exhibit. 
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Each ESXi host has three NICs assigned to a virtual switch. 

Which Network Failure Detection Policy will prevent network failover? 

A. Notify Switches Policy 

B. Link status only 

C. Failback Policy 

D. Beacon probing 

Correct Answer: B 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.5/com.vmware.vsphere.networking.doc/GUID-4D97C7491FFD-403D-B2AE-0CD0F1C70E2B.html 

 

QUESTION 5

An administrator configures vSphere Replication for a DR site. 

Which two items should be deployed at the second site? (Choose two.) 

A. array-based storage 

B. vSphere Replication appliance 

C. vCenter Server 

D. vSphere Distributed Switch (VDS) 

E. vSphere Data Protection (VDP) 

Correct Answer: BC 
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